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QUESTION 1

Power On Self Test (POST) runs when a computer first boots. Which component software issues this test?

A. Complementary Metal Oxide Semiconductor

B. Northbridge On Board Chip

C. Basic Input/Output System

D. Southbridge On Board Chip

Correct Answer: C

Basic Input/Output System, the BIOS (pronounced bye-o0ss) is a ROM chip found on motherboards that allows you to
access and set up your computer system at the most basic level. The BIOS includes instructions on how to load basic
computer hardware and includes a test referred to as a POST (Power On Self Test) that helps verify the computer
meets requirements to boot up properly. If the computer does not pass the POST, you will receive a combination of

beeps indicating what is malfunctioning within the computer.

References: http://www.computerhope.com/jargon/b/bios.htm

QUESTION 2

What is one advantage of application virtualization?
A. reduced network traffic

B. hardware consolidation

C. improved collaboration

D. fewer operating system updates

Correct Answer: B

QUESTION 3

Which is an advantage of 64-bit operating systems over 32-bit operating systems?
A. Larger amounts of accessible RAM

B. More device drivers

C. More compatible applications

D. Cheaper hardware

Correct Answer: A

Can access a larger address space.
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QUESTION 4

David and Vivian work as Network Administrators for company Inc. David installs a printer on his Windows 10 computer.
The printer will be shared on the network and will be used only by the members of the Developers local group.

David wants to accomplish the following goals:

Prevent all other members, except those of the Developers local group, from using the printer.
Members of the Developers local group will only manage print jobs sent by them.

Only he and Vivian will manage the printer and all print jobs.

David takes the following steps:

Grant the Allow-Print permission to the Developers local group.

Grant the Allow-Manage Documents and Allow-Manage Printers permissions to Vivian\\'s and his user accounts.
Which of the above stated goals will David accomplish?

A. Only the second goal will be accomplished.

B. Only the third goal will be accomplished.

C. Only the first and third goals will be accomplished.

D. Only the second and third goals will be accomplished.

E. All the three goals will be accomplished.

F. Only the first goal will be accomplished.

G. Only the first and second goals will be accomplished.

Correct Answer: D

Granting the Allow-Print permission to the Developers local group will allow members of the group to print. By default,
the Everyone group has print permission. This permission entry needs to be removed to meet the first goal.

When a printer is shared, all users by default can manage printing of their own documents. Therefore, the second goal
is met.

David granted the Allow-Manage Documents and Allow-Manage Printers permissions to Vivian\\'s and his user accounts
to manage the documents printed by other users. This meets the third goal.

QUESTION 5
This question requires that you evaluate the underlined text to determine if it is correct.
The minimum permission needed to delete other users\\' documents from a print queue is "Print".

Select the correct answer if the underlined text does not make the statement correct. Select "No change is needed" if
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the underlined text makes the statement correct.
A. Manage Documents

B. Manage Printers

C. Deny

D. No change is needed

Correct Answer: A

Manage documents. If you have this permission, you can manage all jobs for a printer that are waiting in the print
queue, including documents or files that are being printed by other users. Incorrect Answers:

D: With print permissions you can only delete your own documents.

References: http://windows.microsoft.com/en-us/windows-vista/what-are-printer-permissions
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